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Convert decimals between standard and expanded form
What is the standard decimal form of the following expressions? |
IOx1H+EaxQ0011 | | | | Ox24+4ix00] | | | | 5S5x5+1x0001

2x3+7x011 | | | | | 22ix2+4x002]| | | | 15x12/+3x0.003

1Zk1N+5x0003 | | | | 4ax2+9x0002| | | | 4x6k6x0.0]

What is the standard decimal form of the following expresSions?__Ticik the r‘::orre_clk answﬂler.

7x1+5x0]

Oz0s | Opi1  Osz  Ozs
1x4+8x1+2x0.001

D12002 Osoos Dis00a 032002

10x 0.2 +5 x 0.01

0205 Ob20e  O207 DOb204.

1x9+2x1+6x0.001
Omnos ! One | Onoos Omo
7 x 0.001+ 6 x 0.001 + 10 x 1.

D001z Owo - 0100 0o

1x2+1x0.1

Oi2 | Oioz | Oz201  Ob1
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Convert decimals between standard and expanded form

What is the standard decimal form of the following expressions?
10 x 1 + 6lx 0.001 | poll o 4 4 4 4 o f Jo il b 4 of 4 |
To solve this, let’s separate the expression into two parts and then evaluate. |
A0 x 1)+ (6 x0.001) =00) +(0.006)

=0 + 0.006)
I I . - =10.006 . |
So, the standard decimal form is 10 .006.

What is the standard decimal form of the following expressions? _Tiqk the r‘::orreclk answﬂler.

7x145X01 I )
O70s Owi  Os7 s
1x4+8x1+2x0001 | | |
Uﬁz.boé Osoos [ieoos Dz2002
10 x 0..2 + 5.x 001

13/205 .~ Ob2o06  O207 Ob204
1x9+2x1+6x0.001

Onos One i%..oo.s. Ono

7 X 0.001 + 6 x 0.001 +10 X 1

_Wﬁomz_ Omwo | Ohoo1! Onol

1x2+1x0.1

02 Oz Oo01 Mm
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